Notes

NOTE 1: 1INT Opening

15-17 PTS; (can be distributional)

2C Min/Max or Stayman, does not promise 4M
Note: 2C — 2H — 2S shows 4S invitational or better, totally
forcing.
(after 2H response 35/4C/4D all splinters). See non promissory
notes, 3NT denies 4 spades.
Response of 2NT = 5 card major min and 3H/3S =5 card max
2D/2H Transfers. (3H/3S = super accept min, bid 2NT, other suit shows
that suit and max, re-transfers, jump is splinter/slam try)
2S Transfer to Clubs. Bid minor of you like it.
2NT Transfer to Diamonds.
3C 5/5 minor weak
3D 5/5 minor strong
3H/3S 4441 with the singleton in the suit bid
3NT To Play
4C Gerber
4D/4H Transfers (on over interference), transfer at the 2 level and
then 4 = slam interest.
ANT Quantative

Stayman & Smolen

1NT-2C; 2D-2H weak both majors (5H/4S)

1NT-2C; 2D-2S weak both majors (55/4H)

If we transfer to lower major then bid higher 5/5 weak
If we transfer to higher major then bid lower 5/5 strong

NOTE 2: Drury

1M opening third in hand, 2C enquiry. 2D = opening hand. 2M=
worst possible hand.

NOTE: 3 New Minor
Forcing

Over rebid of INT — 2C (invitational) 2D (GF). 1D-1H-1NT-2C-
2D-2S =4/4 in the majors invitational and 1D-1H-1INT-25= 5/4
Maijors invitational.

System on over all one level interference. 2NT directly = 12 and
vig2C=11.

Check-back

Over rebid of 2NT = 18/19. 1X — 1X — 2NT now 3C = transfer to
D. Any 3 level bid after 3D is to play, and 3D = check back for
majors

Rebid of 3NT = less pts long minor.

NOTE 4: Multi

3-way weak in either major, 2NT 20-22 with 5 card suit, 8
playing tricks in any suit.

2NT = Enquiry Bid Responses as follows:

Responses 3C = Upper range of a weak 2
opening (8-10) either major, 3D enquiry, 3H=Spades
and 3S=Hearts

3D = Lower range and a transfer to
hearts
3H = Lower range and transfer to




spades
3S = 8 playing tricks in spades
3NT = balanced 20-22 or 25-26
4C = 8 playing tricks in clubs
4D = 8 playing tricks in diamonds

After 2D opening = 4C = transfer to 6 card major 4D = H and
4H=S. 4D = bid your suit

Over interference: 3C/3D — 3H for conversion, 4C = transfer to
6 card major as above and 4H/4S to play. 4D = bid your suit

2NT/ Multi 20-22pts

Transfers

Baron Suits Upwards

4D/4H transfers

Super Accept= 4 card trump support and strength in suit bid

4C = Gerber

3S-5S/4H

4S = 5/5 minors slam try

Opener Rebids

2NT =23/24

Multi then 3NT rebid =25/26

3NT = 27/28(suits upwards + transfers over this)

NOTE 5: DOPI /ROPI

X/XX = 03 (under the 5 level of trump suit)

Pass=1/4

Cheapest bid =2/5

DEPO

Dbl =0/2/4 (above the 5 level of trump suit)

Pass = 1/3/5

NOTE 6: Lebensohl (SANS)

Double is take out.
Undisturbed bids at 2 level to play
Over 2C (for majors, 3clubs = 5 card forcing)
Over 2C (Anti, dbl = stayman, 3clubs = 5 card forcing)
Over 2C (Single suited, dbl = stayman, system on)
Over 2C (Don’t, dbl = Stayman system On)
Over dble (single suited or not penalty, system on)

NOTE 7:Roman/Michaels
Cue Bids

1C — 2D = Diamonds and Hearts 5/5 weak

1C — 2H = Hearts and Spades 5/5 weak

1C - 2S = Spades and Diamonds 5/5 weak
1D — 2H = Hearts and Spades 5/5 weak

1D - 3C = Clubs and Hearts 5/5 weak

1D - 2S = Spades and Clubs 5/5/weak

1H/1S - 3C = both minors weak

1H — 2S = Spades and Clubs 5/5 weak

1H - 3D = Spades and Diamonds 5/5 weak
1S — 3H = Hearts and Clubs 5/5 weak

1S — 3D = Diamonds and Hearts 5/5 weak
1C/1D - Cue bid = both majors opening hand
1H/S — Cue bid = Other major +m opening hand
1H/1S — 2NT = both minors opening hand




NOTE 8 Defence to NT

Dble of weak NT penalties (if | am pulling this or bidding to
game because of vulnerability system off)

Dble of strong single suited

INT overcall — System Off

INT by us and 2NT by opps, lower cue staymanic, 3H/3S shows
5 forcing

INT 10-14 protective responses system off.

INT — P — P —dble now is for take out.

Cappelletti

Dble Weak = penalty
2C = Single suited hand
2D = Both majors

2H = H + minor

2S5 =S + minor

2NT = both minors

Dble Strong = Single suited
2C = both minors
2D = Both majors
2H =H + minor
2S =S + minor
2NT = strong 2 suiter
A 3 level bid over their NT = intermediate,to play.
NOTE 9 Leaping Michaels
All overcalls showing 2 suits are 5+/5+
Over 2D (nat weak) : 3D =5/5 M intermediate, 4C = C and either H or S. 4D
= both majors. 4H/4S = natural to play.
Over 2H (weak) :  4C =both minors. 4AD=DandS. 4S=SandC.
4H = long spades
Over 2S (weak):  4C=both minors. 4D=DandH. 4H=Hand C.
4S = Long suit, COR D OR H (Partner relays 4NT)
Over Multi 2D : (3H/3S natural, strong, 6+ suit, some slam
interest).

4C = both minors. 4D = single suited major, not
as strong as 3H/S above
4H = H and minor. 4S =S and minor







